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N 1907.10.01 46 +18 | 126  +53 -3.3 -23 - 1.7 43 e
ol™ 1904.08.29 40 +14 99 +31 0.2 +10 - A=CE | AEgLE | RIEgi2
HAt 1904.04.09 | 11.7 +53| 193 +8.2 48 +21 - 41 11.0 = e
s 1904.04.08 78 +35| 164 +70 1.7 +10 - 45 8.6 =
A= 1911.1003 | 111 +72| 18.8 +103 51 +50 - 95 14.2 S
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A 2826 | 221272 | 22128 3812 3g2< 3g3el
HA7|2(0°C) 41 57 4.2 4.6 6.3 57
Z4=2F(mm) 0.0

ELA TEES | FEERZS | FEXE Ha = k=
HA7|2(0°0) 4.0 5.9 25 4.0 4.7 41

oM | Zd=%(mm)

EL RS
"HA7|2(0°0) 77 9.3 97 11.7 8.0 6.4

AN | Z=2(mm) 11.1

EL TEXT E¥g | FEXE | *FEXE S & TEES

H77|2(°C) 5.8 87 5.7 7.8 7.0 8.5
=X | 2 (mm) 8.6

SN | PeRs | 7EusS | Peus | PEZE | PEUS |PENS

H37[2(0) 8.5 6.5 7.0 111 22 46
zZ=2 | Z=2(mm) 0.0 04 0.0

EL TExg| =E TEXZ | TEZS| = 5=

HA7|2(C) 36 54 76 8.0 6.2 6.0
T | ZxTF(mm) 0.5

EL TEES | TEES H= TEEZS sd TERS

WA7|2((°C) 53 10.1 5.8 6.6 7.0 6.4
HE | Zg(mm) 1.7
EL TEERS =3 TEXZZ | TEXE | FEES | FEXS




